

## Reappear Grade Sheet of B.Tech Civil Engineering\_3rd\_Sem\_December\_2019

Sr.	Reg. No.	Statist	Statistical & Numerical Analysis CE-201 Credit Hours- 4			Building Construction & Drawing CE-203 Credit Hours- 4			N.S.T Lab CE-215(P) Credit Hours- 1				Survey Lab CE-211 (P) Credit Hours- 1				Total Registered	Total Point	Grade Point	
No		Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Credit	Secured	Average
1	SU13438	F	4.00	0.00	0.00		N	.A		N.A			N.A				4.00	0.00	0.00	
2	SU13523	F	4.00	0.00	0.00		N	.A			N.A				N.	A		4.00	0.00	0.00
3	14CEBL018	D	4.00	4.00	16.00		N.A				N.A				N.	.A		4.00	16.00	4.00
4	SU13575		N	.A		B+	B+ 4.00 8.00 32.00				N.A			N.A				4.00	32.00	8.00
5	11762		N	.A	N.			.A	C+ 1.00 6.00			6.00	В	1.00	7.00	7.00	2.00	13.00	6.50	

Note: F grade course to be repeated



## Reappear Grade Sheet of B.Tech Civil Engineering\_4th\_Sem\_December\_2019

			Soil Me	echanics			Structure Analysis-II			Principle	es of Engin & Mana	_	conomics		Building Material & Concrete Lab				Soil Med	hanics Lab	)	Rock Me		eology & T	Cunnelling			
			CE-	-204			CE-206			MPEE-202			CE-216(P)			CE-212(P)			CE-210(P)				1					
C.,			Credit l	Hours- 4			Credit Hours- 4			Credit Hours- 4				Credit Hours- 1				Credit Hours- 1			Credit Hrs -1			Total	Total	Grade		
Sr No	Reg No	Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits		Point Secured	Grade Awarded	Earned Credits		Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Registered Credit	Point Secured	Point Average
1	11762	В	4.00	7.00	28.00		N	.A			N.	.A	,		N	.A			1	N.A	•		N	I.A		4.00	28.00	7.00
2	SU13114	В	4.00	7.00	28.00		N	.A		N.A			N.A			N.A			N.A				4.00	28.00	7.00			
3	14CEBL003	C+	4.00	6.00	24.00		N	.A			N.	.A			N	.A			1	N.A			N	I.A		4.00	24.00	6.00
4	14CEBL018	В	4.00	7.00	28.00		N	.A			N.	.A			N	.A			1	N.A			N	I.A		4.00	28.00	7.00
5	14CEBL019	C+	4.00	6.00	24.00		N	.A			N.	.A			N	.A			1	N.A			N	I.A		4.00	24.00	6.00
6	SU13523		N	.A		C+	C+ 4.00 6.00 24.00				N.	.A			N	.A		N.A			N.A			4.00	24.00	6.00		
7	SU13575		N	.A			N.A		F 4.00 0.00 0.00			N.A		N.A			N.A			4.00	0.00	0.00						
8	SU13438		N	.A			N.A			N.A			В	1.00	7.00	7.00	C+	1.00	6.00	6.00	В	1.00	7.00	7.00	3.00	20.00	6.67	

Note: F grade course to be repeated



## Reappear Grade Sheet of B.Tech Civil Engineering\_5th\_Sem\_December\_2019

	Reg. No.	Engineering Economics:- Estimation, Costing & Evaluation				Water Supply & Treatment System Remote Sensing & GIS Course														
				-301		CE-307				CE-309				PE-301				Total		
Sr.		Credit Hours- 5					Credit Hours- 4				Credit Hours- 4				Credit Hours- 2				Total	Grade
No		Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Registered Credit	Point Secured	Point Average
1	SU13333	F	5.00	0.00	0.00	D	4.00	4.00	16.00	C	4.00	5.00	20.00		N	.A		13.00	36.00	2.77
2	SU13438		N	.A		C+	4.00	6.00	24.00		N.A			B 2.00 7.00 14.00			6.00	38.00	6.33	

Note: F grade course to be repeated



# Reappear Grade Sheet of B.Tech Civil Engineering\_6th\_Sem\_December\_2019

6	Reg. No.	Irrigation Engineering & Hydrology CE-302 Credit Hours- 4			Geot		Engineeri 306 <b>Hours- 4</b>	ng-II	Persona Enhancement (Sprint only)  PE-302  GE-123  Credit Hours- 1  Credit Hours- 3					Total	Total	Grade				
Sr. No		Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Registered Credit	Point Secured	Point Average
1	SU13575	В	4.00	7.00	28.00		N	.A			N	.A			N	.A	<u>I</u>	4.00	28.00	7.00
2	SU13438	В	4.00	7.00	28.00		N	.A		C+	1.00	6.00	6.00		N	.A		5.00	34.00	6.80
3	14CEBL018		N	.A		D	D 4.00 4.00 16.00				N.A				N	.A		4.00	16.00	4.00
4	SU13523		N	.A			N.A				1.00	7.00	7.00	N.A			•	1.00	7.00	7.00
5	14CEBL019	N.A				N.A			N.A			C	3.00	5.00	15.00	3.00	15.00	5.00		

Note: F grade course to be repeated



# Reappear Grade Sheet of B.Tech Civil Engineering\_7th\_Sem\_December\_2019

Sr.	Reg. No.	Advar		rial Testii 113 P Hours- 1	ng Lab	Total Registered	Total Point	Grade Point	
No		Grade Awarded	Earned Credits	Grade Points	Point Secured	Credit	Secured	Average	
1	SU13523	В	1.00	7.00	7.00	1.00	7.00	7.00	

Date of Issue: 11.02.2020 Prepared By

Checked By Controller of Examination



# Reappear Grade Sheet of B.Tech Civil Engineering\_8th\_Sem\_December\_2019

Sr.	Reg. No.		CE-	CAD-II 406 Hours- 3		Total Registered	Total Point	Grade Point
No	9	Grade Awarded	Earned Credits	Grade Points	Point Secured	Credit	Secured	Average
1	14CEBL019	C	3.00	5.00	15.00	3.00	15.00	5.00

Date of Issue: 11.02.2020 Prepared By

Checked By Controller of Examination